1. FA9%a,b 9 Ha3WM5764 A W, a b 9 FHi4 5 300
7V ke =

D 192 @ 256 ® 294 @ 305 @320

A=) vi4=21 64, 128, 192, 256, 320, --- = 300 o 7F&
7W7h8 = 320 o]t}




Aol SHA EE71?

= I
=2 0o

= K

18
<Q
A A e A}

__o_l

—

©)

__o_l

oM

__o_l

oM

HA "ot

o

=
=

T




o

of Aot AALE Ht ol AA2 AlFol HA st L
2= = 300 0]5}te] AASE R T Lstolat

IIE'-

vV VVVVVYyVYyVvVVYYVY &5
o

HED 10
HED 40
HE D 90
HE D 160
HE D 250

B ‘

40=23x5
B0k & AASE x 2 2 1,

x=2x5, 22x5, 2x32x5, 2°x5, 2x5°
=10, 40, 90, 160, 250, ---

x =300 o]5te] Aeig- oln

10, 40, 90, 160, 250




4.

@53 eliam

29| /9= 70 7 56 °] HejFFolo,

70=2x5x%X7,56=23x7

wpeba] 290 g 2 x 7 = 14 ()

ZE g

SHAY o] = 56+14 = 4(

[

70+14 = 5( ), o

o] St

St
ol

) oIt




F 4 39x52x 7, 33 x50 x ¢ O] HFe= 32 x 52, HAFHjeE

P x5xTx11 LW, a+b+c 2 FHe?

@® 14 @15 ® 16 @ 17 ® 18

3=320|HE =2,
5 =520]B&2 p=2,
c=11°22 g+ b+c =15 9|t}




6.

56720 o] 9o Aele] 448 Ffolel,

567209 2] o] A= et AFAESt 2= F=rt
=17,

72 =49,

73 =343,

74 = 2401 ,
7° = 16807 ,
76 = 117649 ,

T ASAEE W, 49 A= 22A7ET, 9, 3, 1 9 W A9
A7} R

5672099 o] 24291 2009 £ 4 = LHrH

2009 +4 =502---1 °|E=

5672009 o} A9 2= o} eAb= WhEEE U A9 24 & A WA
AL 7 o]t




OF4=0] |7 36 0], 28 x 3 x 5 x T O & AQIS+H 5]
e B g NN (B x y, 2= A

A

rr

@37]1 @ 674 ® 97 @ 127 ® 1571

36=2x2x3x3°|E2
(x’ y’ Z) = (1’ 2’ 2)’ (27 ]-’ 2)9 (2a 2’ ]-) -(—)-E?) 7HO]IjI-




A AQL W7k 231 5 0|3, H2FH47t 240 A wf, A A5

w2?

@ 16 @ 24 ® 40 @80 ® 120

B :
Al A4S 2x x, 3xx, 5xx 2 oA
z)2XzT 3XT 5XIT

2 3 5
XX2X3x5=2400]E2 x =38
wabA, Al A4 16, 24, 40 °o]B2
A AFAS0] TS 16 + 24 + 40 = 80 ©]t}.




9. 400 Mk AL A5 Hhetol, 5.9 B0l A 2, 3, 49 W4t
obd 5:9] A58 Ffed e,

> E:

> =g 27

5.9] W40l Ak 2, 3, 4.9] WS obd S 5 9 WSo] @A
2, 3 ©] W47} o St
5o 80-40-26+ 13 =27




10. A zfe] 5 997 & srolek. o] A o ko] o] 5 k2] 4 097097
o] oF4-0) A5 otolet.

> = A

> =e 1674

997997 = 997 x 1001 = 997 x 7 x 143 = 7 x 11 x 13 x 997,
5.997997 o] oF50] M4 =2x%x2%x2%x2=167]




